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Tick the best alternatives.      502=100 

Mathematics 

1. The sum of 50000 and 326648 is 

i.376648                  ii. 376647                   iii. 366648                iv. 377648 

 

2. Estimate the sum 586 and 317 by rounding of the numbers to the nearest hundred. 

i.500     ii. 300   iii. 900  iv. 600 

3. The sum of place values of 585635 is 505005 

i.True   ii. False  iii. Both   d. none 

4. Put the sign >, < or =, 906+231________ 453+784 

i.>                          Ii. <     iii. =  iv. None 

5. What is the half of 6 tens and 4 ones? 

i.30   ii. 32   iii. 64  iv. 46 

6. Which angle is the right angle? 

 

 

 

 

 

 

 

 

 

7. How many socks are there in 15 pairs? 

i.15   ii. 30   iii. 150  iv 75 

8. Square of 300 is 

i.90   ii. 900  iii. 600  iv. 90000 

i.                        Ii.                                 Iii.                                             Iv. 



9. Which one is the factor of 20? 

i.5   ii. 4   iii. 3   iv. Both a and b 

10. 1 crore = __________ millions 

i.1 million  ii. 100 million  iii. 10 million  iv. None 

11. Product of 7˟ ¼ is 

i.8/4       ii. 7/4   iii. 7/2   iv. 7/8 

12. Which is the prime number? 

i.7   ii. 9   iii. 15   iv. 18 

13.  Find the value of 112 ˟ 222 

i.483    ii. 484   iii. 22   iv. 88 

14.1 year + 3 months is equal to ___________ months 

i.15    ii. 51   iii. 36   iv. 13 

15.A cube has _______faces. 

i.6   ii. 8                  iii. 12   iv. none 

English  

16. They go to school……………….foot. 

i. on   ii.  by                   iii. in   iv. with 

17. She puts……………….much sugar in tea. 

i. to   ii.  too                   iii. due to   iv. none of them 

18. He is absent ……………….of his sickness. 

i. because  ii.  so                   iii. due to   iv. none of them 

19. I was born……………….June. 

i. on  ii.  at                    iii. in    iv. none of them 

20. Schools are closed……………….Sunday. 

i. in  ii.  on                    iii. at    iv. none of them 

21. Aerorplanes ……………….in the sky. 

i. flight  ii.  fly               iii. move    iv. live  

22. Farmers……………….crops. 



i. water  ii.  grow                   iii. cut     iv. none of 

them 

23. Birds……………….in nest. 

i. fly  ii.  build                    iii. live   iv. none of them 

24. ……………….spread diseases. 

i. Flies  ii.  Insects                   iii. Mosquitoes   iv. All of 

them 

25. I ……………….in class V last year. 

i. am  ii.  is                    iii. was    iv. were 

26. They ……………….play football. 

i. can  ii.  is                    iii. like    iv. want  

27. The vegetables……………….fresh. 

i. am  ii.  is                    iii. are     iv. must 

28. You ……………….catch a cold if you go out in rain. 

i. are  ii.  have                    iii. will    iv. none  

29. You ……………….catch a cold if you go out in rain. 

i. are  ii.  have                    iii. will    iv. none  
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General Knowledge and IQ 

41. What is the total area of Nepal? 

i.1,47,181   km²           ii. 147,516 km²          

iii. 147,516 km                 iv. 147,181 km 

42. Which of the following is not a scientist?  

i.  Thomas Alba Edison      ii. Sir Isaac Newton   

iii. Stephen Hawking                 iv. William Shakespeare  

43. Which country in the world is known as ‘The country of midnight sun’?  

i.  Japan  ii. Norway iii. Nepal      iv. China  

44. Who is the inventor of television?   

i.  J.L. Baird    ii. Waterman  

iii. Albert Einstein        iv. Thomas Alba Edison  

 

45. If you count from 1 to 100, how many 7s will you pass on the way?    

i.  19    ii. 20  iii. 21  iv. 22  

46.  Which is the largest continent in the world in area?  

i.  Asia   ii. Africa  iii. Antarctica  iv. Europe  

47.   How many consonants are there in the English alphabet?  



i.  22    ii. 23   iii. 19   iv. 21  

48.   Which is the tallest mountain of the world?  

i.  Mt K2    ii. Mount Everest   

iii. Kanchanjunga   iv. Kosciusko 

49.   What is the baby of the lion called?  

i.  pirate     ii. joey   

iii. cub    iv. calf  

50.   How many provinces are there in Nepal?  

i.  77  ii. 7   iii. 14  iv. 753 

 

 

Thank you 
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